Digitizers

Serial Model Conet Daisy VME

number PID node  address
553 V1730B 25507 O 0x2003
416 V1730B 25507 1 0x2002
549 V1730B 25507 2 0x2001
30639 V1730SB 32636 0 0x2006
30640 V1730SB 32636 1 0x2005
30641 V1730SB 32636 2 0x2004

next to the bridge

broken PLL
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Noise readout

Digitizer 549
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Digitizer 553
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Noise readout
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Noise readout

Digitizer 30639
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Noise readout
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Pulse readout

Digitizer 416
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Pulse readout

ADC count
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Pulse readout

Digitizer 549
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Pulse readout
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ADC count

Pulse readout
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Pulse readout

ADC count
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» Empty data files — fixed.

» Timings — need to reconfigure the digitizers to stop propagating software
trigger to TRG-OUT.

» Cannot talk to high voltage boards: VME bus error.



